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Second Part : Penology : Answer only any Two of the following questions :-
1 — Define penology and discuss the of the following models of Prevention and
Control ( Punitive model - Correctional model - Mechanistic model )?

2- Discuss the following Purposes of criminal Punishment :-
(Revenge — Retribution- Incapacitation- Reform or Rehabilitation).

3- Discuss the five criteria, which must be fulfilled in order impose the criminal
punishment ?

4- Discuss the following forms of Punishment (Capital punishment -Corporal
punishment — Deportation — Excommunication - Enforced therapy) ?
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Answer the following guestions:

R

subjects: (7 grads)
1. Protectionism and liberalization.
2. The four types of money systems 7

| Second Question: Explain in details two of the following terms: (5
grads) :
1. Reasons for international trade .

2. Economies of scale and interaindustry trade
3. Heekscher-Ohlin model .

Third Question: Explain briefly two of the following terms: (S grads)

1. Price ratios.
2. Barter and functions of money,
3. Financial markets.
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L- Write about the contractsystem in Ptolemaic
Egypt era?

b2

- Write about the Ptolemaic judicial system?
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Answer only two of the following questions:

1 — Explain the legal nature of the company according to the
contractual theory?

2 — "The multiplicity of partners" is one of special substantive
elements of commercial companies contracts. Explain?

3 —There are general reasons for the dissolution of all companies
and special reasons for the dissolution of persons' companies.
Mention four only of each and explain the effects of dissolution?
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Answer only two of the Following Questions:
A. Benefits of Economic Courts in Egypt.
B. Slow Pace of Litigation in Economic Issuc.
C. Establishment of Economic Courts in Egypt.
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Answer the following questions :-
|- Which elements of Judicial Jurisdiction?

2- Briefly , Talk about the Requisites of Recognition and Enforcement of
Foreign Judgments and Arbitral Awards?
3- Discuss the problem of Renvoi?
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- Answer only any Two of the following questions :-

1- " Gehad stops by the local convenience store on his way to work and buys some
c1garettes Before paying for the cigarettes, Gehad slips a package of chewing gum
into his pocket and does not pay for it.

Gehad continues wa]l-ung to his job at a local gas station. When one of the customers
buys gas, Gehad only rings him up for half of the amount purchased. Once the gas
station closes, Gehad takes the other half out of the cash register and puts it in his
pocket with the chewing gum . After work, Gehad decides to have a drink at a nearby
Coffee shop. While enjoying his drink, he meets Kamel , who is a taxi driver. Kamel
mentions that his taxi needs a tune-up. Gehad offers to take Kamel back to the gas
station and do the tune-up in exchange for a taxi ride home , Kamel eagerly agrees.
The two drive to the gas station, and Gehad suggests that Kamel take a walk around
the block , while he performs the tune-up. While Kamel is gone, Gehad lifts the hood
of the taxi and then proceeds to read a magazine.
When Kamel returns twenty-five minutes later, Gehad tells him the tune-up is
complete. Kamel thereafter drives Gehad home for free.
In this case :
-Could Peter be charged of Robbery or Extortion , and why?
- What is the exact charge which can be attributed to Gehad and why?

Give reasons for your answer.

2- Explain in details the required elements and punishment of rape crimes according
to article 267 of Egyptian penal law ?

3- Discuss provocation as adequate reason to mitigate the penalty for unjustifiable
homicide?
4- Explain in details the required Elements and punlshment of Rnhhery crimes ?

i g gk ol (1Y) u.n ul.n;ﬂ.l u..a.hn.ﬂ nuln-ll e bl ol ady

Badiphily alahily Sahedy) prat] pg



PAAVAV/YS sl Yoy il 0 = dlady) 431 dad oladal Unibs daals
Glelu ¥ @ gyl N (g el Gsiall ¢

Jou| i
(o)) @ SO g g gall A i) -
'L.:';-Ju‘?” J_}JL&H ___;.JL-.-::LA
-1rb Laa 1280 2019 Eguiage (A iS) -
Aalall 33yl jas Sa5 A ac) g8l s oY) £ guca gal
& O gall alss 1o Jal g g-IU'I &y}di
s e T

|

* Answer the following questions:-

e Discuss constitutional foundations of

the powers of the courts?
e Define Legislative sovereignty and

which types of repeal?

e Discuss the Ministerial responsibility?
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Answer the following questions:-

* Define, The legality has certain
fundamental requirements which
consist in?

e Briefly, talk about Discretionary
powers of the administration

e Discuss ,Constitutional jurisdiction

in Egypt ?




RLAT PR ST L I L AN PRRTR IR OLL B  J PG Uaik dsals
RRRTAVARE FP i) — gl ASNED 43,40 Jshadl s
w.ﬁh I:.,-Ld;l."a“i'.'l p-'l..n.dﬂ"l ‘aala

) B AL (o JaED coallhan i ot g plaa] oS J1;..dtusu.=4
n._ﬁh’ » :dJ;'-”' JVgand)

el g 1 d s Lk ba 5 )

dillial GlygleS glas Blely ial a8 Gedady od (5l Db e —
sa Lag topahall 38 osall allitll Jaydl AN Vb auady Ja Al Sl sl
Sagd cakl) dlaga

e Jeaiia sale Jany caSiyall Unall ad i) Agall Galona pliad (e YBa 83 —
Adbe gl Claly e Jeadie gyine Jans (S35 Uaad Al Aadayll Slaly

gall Gadaa S1s cddag) Gise e plil Vo mad L8 Ll geeazs) ad) -
agle Al sA ailAl) el pdag ¢ geedll gl ping deSa il (gieaddl

Aala B ulad)
cilngsy 0 dl pomgiia, ) Jgmad)
olgill e Agall 4l ie pie g pddly Jylis
by o dl gomiia R (k| I\ TN
paneal 4 SIS, ((JOA a gl jgaay cddypes s ye JSAI Cue pydlL Jolis
sl 13
el ¢ dl o el Sl

10e Al L JS S0
soldl Jleel e Llghiaal) ade Silyjme
ostaall Agygin e 4N Al e (gpeadll 4Gill Cilga L
.;Ln.l‘?'u ,_p.hn .‘I'LI:L-. :ILg_u| Jl.ﬂ ¥

Babgilly plailh maead) Slic za



il e 2017 bl e — padbandll (58 Sladal el daals
2017/1/2 : fe (bl = bl ) A205N 45,40 Jdshad) 405
A laay) ARl AP Glatbuaal) il

I ——— A e

B e e

(<lays 6) N Jlpead
) e paagall a dals edge (A S
1- Definition of law?
2- Administration of justice?
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Regulative — Concrete — Ordinance — Sanction — Justification
- Absolute justice — Flexible — Compulsion.

gl ) 0 AR pai 2
«By customary law is here meant any rule of action which is
actually observed by mean — any rule which is the expression
of some actual uniformity of voluntary fiction».
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Answer only Three questions from the following:

1- Write about the right to freedom of opinion and expression.

2- Write about man’s dignity in Islam, and the rulings of Human
Rights.

3- Write about the rulings of Human Rights in Ancient Egypt.

4- Translate into Arabic.

The Universal Declaration of Human Rights was issued by the
United Nations organization whose articles stipulated:

The freedom and dignity of man and equality in rights without
distinction of any kind, and no one shall be subjected to torture or
cruel, arbitrary arrest, detention or exile or interference with his
privacy.

We can find such principles in ancient civilization and correspond

to Pharaoh Egypt, Hammurabi register in Mesopotamia, Clisten’s

legislation or Buddha Traditions.
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La Lettre de change — Augmentation reelle- Aléa- le Pret a'interet-
biens usuraires- usure du term- la rlmiun de Prix- contrat de change
I'egalite quantitative- biens echangés.
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Les juristes musulmans exigent deux conditions pour la validite de
la suftaja: (1) la remise d'un lieu a un autre lieu; et (2) l'unite des
monnaies. Autrement, I'opération serait usuraire. En réalite, le
recours a l'emploi de la suftaja etait une operation suspecte aux
yeux de certains docteurs musulmans.
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Done, L'Arbitrage maritime devant le Lloyd's
de Londres est un Arbitrage institutionnel car il
¥ @ un organisme permanent d'Arbitrage
maritime et intervention en cours de prﬂcédures
Arbitrales par I'organisation et I'administration
des Arbitrages et aussi par le contrdle des

sentences Arbitrales.
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1- LaChambcreArbltralcmnﬂﬁmedepnﬂs:

2- L'organisation lntemntiunalﬂ d'Arbi
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Answer only two of the following questions:

(10 points )

1- Why governments may resort to public loans ?
2- Explain principles of taxation ?

3- Define public budget and explain its rules ?
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Answer the following questions:

1-Mark true or false and correct the wrong statement :

(5 point )

a- During the time of inflation and prosperity , the government
should step in by easing of credits through the banking
system .

b- Reducing public expenditures magnitude is the main aim of
its rationalization .

c- When the economy is in glooming conditions , the ability of
the government to rais money out of public loans would be
SO easy .

d- When the value of domestic currency to foreign ones
deteriorates ,the country shoud pay less for its imports .

e- When the government adopts the separated budget , the
size of public expenditures appear higher than they would
have been in reality .

2- Answer only three questions from the following :

(12 points)

a- Reagarding the control of public expenditures , it could be
undertaking through three methods . discuss this
statement ?

b- Why governments may resort to public loans ?

c- Explain principles of taxation ?

d- Define public budget and explain its rules ?
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¢) the palace where the person usually resides.
d) none of the above

4. Indiscriminating child
a) doesn’t possess any Kind of legal capacities.
b) lacks the capacity to enjoy.
¢} has the ability to enjoy rights and assume obligations.
d) all of the above

5. The commencement of juristic personality
a) is similar to the commencement of natural personality.
b) can be achieved through the legal recognition that exists once legal requirements
are satisfied.

clad&b
d) is equal to the extinction of juristic personality.

Part 111: You may kindly address only one subject out of the
following legal issues:

1) The process of enacting the ordinary legislation.
2) Characteristics of natural personality.

J) Differentiating between commanding and supplementary rules,

CETEr TR ——
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Part 1: True or False Associated with a brief Explanation. You are
kindly required to address all the following legal statements:

1) The generality and abstraction characteristics of legal rules contradict with their
limited applicability to a certain place and time. L

2) Penaity takes different forms, as it may differ in kind or in degree of severity
depending on how far dangerous committed violation may be, fle ]

3) The scope of the international law is quite limited to the extent that it doesn't embrace
the regional international organization. -3

4) Egyptian Civil Code is concermed with two types of relations and ties among the
people which include family ties (personal status) and financial ties (real status). | |

5) Where no provision is found in the commercial code for the given problem, recourse

shall only be made to the rules of commercial custom. I 1
6) A president of Arab Republic of Egypt is not vested with the power of enacting any
kinds of ordinary legislation. e |

7) Capacity to exercise is the ability to enjoy rights and assume obligations. [ |

Part 11: Please choose the most correct answer out of the available
answer choices:

1. The legal rule is abstract

a) because it does not concern a particular person or persons, specific case or cases,
but it specifies certain conditions and descriptions.

b) because it does not care about intentions, feelings, and sentiments as long as they
are not expressed into concrete actions,

¢} because public authority imposes penalty in the society by force against any
person who violates the provision of the legal rule.

d) all of the above

2. Civil penalty
a) may be aimed at forcing the debtor to fulfill his obligations in kind.
b) may take the form of a consideration.
¢) may take the form of removing the effect of legal violation.
d) all of the above

J. Specific domicile refers to
a) the address of one's lawyer.
b) a compulsory domicile.
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PART I: ( ENGLISH PART)
Do you Agree or Disagree associated with a reasonable justification.

You may Kindly address only Four (4) out of the following legal
statements:

I- The contract of sale is deemed to be a consensual contract from the Egyptian
legal prospective.

2- In the context of the contract of sale contract, each of its parties is bound to

perform an obligation or more in favor of the other party.

3- For the contract of sale to be concluded, consent over its essential elements must
be reached by vendor and purchaser.

4- A mere promise to sale is binding agreement under the Egyptian Civil Law.

>- In a sale upon trial, the purchaser has the option either to accept or to refuse the
thing sold, but the vendor is bound to allow the purchaser to make the trial
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ENGLISH PART: Q. I: Do you Agree or Disagree with the following legal
statements? Please associate a reasonable justification to your opinion.

. Civil obligation lacks the element of liability and only furnishes a debit
element.

2. If a representative contracts with himself (self-contracting scenario) in the
name of the person he represents, either for his own benefit or for a third party
benefit, a contract will be rendered absolutely null.

3. The existence of consent is sufficient to render the desired contract
stability.

4. Theory of autonomy of the will means a legal duty which is owed by one
person to another,

5. If a contractor performed the requested work from the landlord, a contract
may not be formed between a contractor and a landlord.

Q11 : Please choose the most correct answer out of the available
answer choices.
1. A proposal is considered an offer if

a) it is manifested by words, wittings, signs, or attitudes

b) it displays the willingness of an offeror to be bound

c) it is sufficiently definite

d) all of the above.

2. E.C.C requires a will to be manifested
a) by written or verbal forms.
b) by signs or attitudes that leaves no doubt as to the connotations of the
intended meaning.
¢) by an offeror or offeree.
d) in outward appearance forms that are either explicitly or tacitly manifested.

3. Placing a cap (taxi) in the parking station, or having goods in a shop window
with a price-tag constitute

a) an explicit means of manifestation of the intent,

b) a manifestation of intention by an attitude.

¢) an offer.

d) all of the above.

4. Ali buys a car from a KIA cars’ dealer, This is an example of
a) bilateral contract.
h) consensual contract.
C) onerous contracl.
d) all of the above.



UCARVAR VA RSN *F -1 Yol v bl g0 = ailealll 58 ladal Uik dxals
lelu ¥ @ el 48D 43,40 (i glall s
(Al Jilaa [ 3ala)

—lgha Jo¥1 0% O Ao AV AL (e JaEb AL ED5 0 caal B3 AL Cadad
= clays G —gilia) )+ da¥) Jlsud
SolEMall sda Juaiilly 7,a) . 05 Clitle il dalaal biady) oo LG ()
Jas (8 Adlsiunsn 5 A1) Alghona Gy La poiall Alghesa LSt B ¢ LGB (ANA (o)
Calilsiucn ady of o pafiall 5,8 s2a g Al ¢ Juadllly I3 £ o8 L AD
tiadly pb dhad) Sle ClS 1Y dhad) el Go Jualilly Al (1) @ AU )
Jlsn sa gl ¢ A pualll) Al phenall g Agaial) Al ghueall G (338 ()
¥ Ol ghesall i pandl
ool Alpiua (e gradg ¢ Olpsadl s Algiua g sk 08 Jasaiilly alss (1) ¢ SUEH Vgl
€ gl ks g ¢ L
Shal) oy 4B 00N Asan] g S TRALY) g (e quaS DAY elia o6 Al ()
frbal all g g0l
bg ) odn gdl L higyd ED qad) B Aalinh Ay B0 jladl bady (1) @ aall) Jlpud
¢l JS aiag Al 83 ma Ll ey
Om B0 a3 0 palddl AN Y Gl ED G e sda puddl aa puag (o)
¢ Adlsgh 5 Al

gy Lol Blpe) e g




'--ﬂ

Cile b S0 i) 2017 iy j9 = pallaglll G Glasal Uil daals

2016/12/29 : g1l (opbeast = a3 ) LAY 43,40 Gdshall 45
dalsall Claliiad) foala

(o et 4 panaia) Jo¥) awdll

t ol Lae Jaad ol c‘.:-'li O aal
.Ehﬁ@ﬁﬁ@éﬁ‘h’ Lagl -1
Aglyal Al Apadally Ladaiall atad lis Llgall Joall daSaa sl -2
ol ¥l Jaall  Biaay Joall calsgall o DEAY Yy SN 4yl =3
Gl jiae LA pa Al gall Aakiiadl (e landY) Gl (530 gl —4
Lebidll — dgall — lgall G A4S clallhiadly dgaidl o -5
Ayl

(Cilags lad 4] ua.m..q) u.;m! lpuﬁ-“

b Lee Jaih Jalii a)f e caal
elae Yl e Jyally sanidll aa¥) o Akl -1
ol A4S, Aaa e aadddlly el Ba 2
LSadl alel slaliadl 4l Gaadll slay) Gilla A Wyils waalsll day,all =3
Al gl Alall
(! shll el A gl Jaadl daSas al5l (520 —4
colae¥l Jyall JSll lalid) paca cpe 308 I Bl a8 e =5

Ealy alendly Qaked)) k) 2



5.}-.& ,-f/ k‘x__.""}\';;/ P S

\

LN RAPS DL, LRG| 2017 by e — gaibanlll (34 Sladal Uaik dnala

= 2016/12/31 : gl A ABR Gllas dsiadl 40
Aglgall cilaliiall f3ala

b Laa Jaid iad 28 e cal

A gal) cilalaiall g Aaladl il 2 Jg¥) Jlpaad!

ol aladiu) Sl fae o olmulS epdl) gl AU Sl
Vil gall cal@all

L eeleal) Gall Aubis oo IS5 1 CIEN Jpud)

sasidl aaY) dakiial slaail) 2058 sgabll Il

~ Bl gleniy Sbat) patal g2



